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1) £8Z5} (23.01.11)

) ) i EHA Flow Volume EMsE )
AlBHS =M 2| x| Z1lo &
ZHE (2/min) (2) (70 /cm)
1 TS 453 179 100 10.07 1,007 0.0063 7| &=Xx[o] gt
2 TS 453 179 100 10.04 1,004 0.0059 7| &=x|o|gt
3 TS 43 179 100 10.09 1,009 0.0068 7| =x[o| gt
4 TS 453 179 100 10.11 1,011 0.0053 7| &=x[o] gt
5 s 45 174 100 10.07 1,007 0.0063 7| &=x|o|2t
6 F1= 42 174 100 10.09 1,009 0.0058 7| =x[o| gt
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1) £3Z1 (23.01.12)
EK-IA EX—Ih:_II:_
N =40 SHA| Flow Volume S8 ZnlodE
ZHE) (8/min) (2) (70 /cm)
1 TS 45 279 100 10.05 1,005 0.0068 7| &=Xx[o] gt
2 TS 45 279 100 10.09 1,009 0.0063 7| &=x|o|gt
3 TS 45 279 100 10.06 1,006 0.0058 7| &=x|o| 2t
4 TS 45 279 100 10.07 1,007 0.0054 7| &=x[o] gt
5 15 45 27 100 10.05 1,005 0.0054 7| &=x|o|2t

6 F1s 42 2114 100 10.08 1,008 0.0058 7| =x[o| gt

7 F1s 42 2114 100 10.05 1,005 0.0063 7| &=x|o| gt
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1) £3Z1 (23.01.13)
=X A EX—IL-.:_II:_
N =40 SHA| Flow Volume S8 ZnlodE
ZHE) (8/min) (2) (70 /cm)
1 s 35 179 100 10.12 1,012 0.0058 7| &=Xx[o] gt
2 F1s 35 179 100 10.08 1,008 0.0068 7| &=x|o|gt
3 F15 35 174 100 10.08 1,008 0.0049 7| &=x|o| 2t
4 s 35 179 100 10.07 1,007 0.0058 7| &=x[o] gt
5 s 3% 1799 100 10.08 1,008 0.0058 7| &=x|o|2t

6 F1s 32 1114 100 10.07 1,007 0.0058 7| =x[o| gt

7 F1=s 32 1114 100 10.05 1,005 0.0073 7| &=x|o| gt
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1) E¥Z 1T (23.01.14)
=X A =ML
N =40 SHA| Flow Volume S8 ZnlodE
ZHE) (8/min) (2) (70 /cm)
1 & 35 279 100 10.09 1,009 0.0068 7| &=Xx[o] gt
2 F1E 3% 279 100 10.07 1,007 0.0068 7| &=x|o|gt
3 F1S 35 274 100 10.10 1,010 0.0058 7| &=x|o| 2t
4 & 35 279 100 10.10 1,010 0.0063 7| &=x[o] gt
5 s 3% 279 100 10.08 1,008 0.0063 7| &=x|o|2t

6 F1= 32 2114 100 10.09 1,009 0.0078 7| =x[o| gt

7 F1= 32 21+ 100 10.09 1,009 0.0073 7| &=x|o| gt
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Flow
(8/min)

10.09

100 10.07

100 10.10

100 10.10

100 10.08

100 10.09

100 10.09

100 10.05

100 10.05

10 100 10.09

11 100 10.08

12 100 10.09

13 100 10.09

Volume £dsE x3t04 5
(4) (74 /)
1,009 0.0058 | &Ex|o|zt
1,007 0.0068 7| Zx|olgt
1,010 0.0063 7| ZXx|algk
1,010 0.0053 7| & x|o|got
1,008 0.0063 7| Zx|algt
1,009 0.0068 7| & %02t
1,009 0.0063 7| &x|o|gt
1,005 0.0073 7| Zx|olgt

1,005 0.0068 7| & %o gt

1,009 0.0078 7| & x|o|got

1,008 0.0063 7| Zx|olgt

1,009 0.0058 7| Zx|algt

1,009 0.0053 7| &x|o| gt

1,010 0.0058 7| Zx|algt

14 100 10.10
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1) £33} (23.01.16)
N =595 E=ESPN Flow Volume EdsE S
2H=) (£/min) (£) (74 /)
1 F1Es 15 179 100 10.07 1,007 0.0063 | &Ex|o|zt
2 F1E 15 179 100 10.04 1,004 0.0068 7| Zx|olgt
3 F1Es 15 179 100 10.09 1,009 0.0063 7| ZXx|algk
4 F1Es 15 179 100 10.10 1,010 0.0073 7| & x|o|got
5 s 15 179 100 10.10 1,010 0.0063 7| Zx|algt

6 s 15 17Y 100 10.07 1,007 0.0068 7| & %02t

7 s 15 179 100 10.07 1,007 0.0073 7| Zx|algt

8 F1Es 15 179 100 10.07 1,007 0.0063 7| Zx|olgt

9 s 15 17Y 100 10.09 1,009 0.0068 7| & %o gt

10 F1Es 15 179 100 10.09 1,009 0.0058 7| & x|o|got

11 F1E 15 179 100 10.05 1,005 0.0063 7| Zx|olgt
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